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NEW QUESTION 1

A security analyst receives an alert from the SIEM regarding unusual activity on an authorized public SSH jump server. To further investigate, the analyst pulls the
event logs directly from /var/log/ auth.log: graphic.ssh_auth_log.

Which of the following actions would BEST address the potential risks by the activity in the logs?

A. Alerting the misconfigured service account password
B. Modifying the AllowUsers configuration directive

C. Restricting external port 22 access

D. Implementing host-key preferences

Answer: C

Explanation:
Reference: https://www.rapid7.com/blog/post/2017/10/04/how-to-secure-ssh-server-using-port-knocking-on-ubuntu-linux/

NEW QUESTION 2

A security analyst is researching containerization concepts for an organization. The analyst is concerned about potential resource exhaustion scenarios on the
Docker host due to a single application that is overconsuming available resources.

Which of the following core Linux concepts BEST reflects the ability to limit resource allocation to containers?

A. Union filesystem overlay
B. Cgroups

C. Linux namespaces

D. Device mapper

Answer: B

Explanation:
Reference: https://www.ibm.com/support/pages/deep-dive-yarn-cgroups-hadoop-dev

NEW QUESTION 3

A company undergoing digital transformation is reviewing the resiliency of a CSP and is concerned about meeting SLA requirements in the event of a CSP
incident.

Which of the following would be BEST to proceed with the transformation?

A. An on-premises solution as a backup

B. A load balancer with a round-robin configuration
C. A multicloud provider solution

D. An active-active solution within the same tenant

Answer: D

NEW QUESTION 4

A disaster recovery team learned of several mistakes that were made during the last disaster recovery parallel test. Computational resources ran out at 70% of
restoration of critical services.

Which of the following should be modified to prevent the issue from reoccurring?

A. Recovery point objective
B. Recovery time objective

C. Mission-essential functions
D. Recovery service level

Answer: B

Explanation:
Reference: https://www.nakivo.com/blog/disaster-recovery-in-cloud-computing/
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NEW QUESTION 5

A company processes data subject to NDAs with partners that define the processing and storage constraints for the covered data. The agreements currently do
not permit moving the covered data to the cloud, and the company would like to renegotiate the terms of the agreements.

Which of the following would MOST likely help the company gain consensus to move the data to the cloud?

A. Designing data protection schemes to mitigate the risk of loss due to multitenancy

B. Implementing redundant stores and services across diverse CSPs for high availability
C. Emulating OS and hardware architectures to blur operations from CSP view

D. Purchasing managed FIM services to alert on detected modifications to covered data

Answer: A

NEW QUESTION 6

A security architect works for a manufacturing organization that has many different branch offices. The architect is looking for a way to reduce traffic and ensure
the branch offices receive the latest copy of revoked certificates issued by the CA at the organization’s headquarters location. The solution must also have the
lowest power requirement on the CA.

Which of the following is the BEST solution?

A. Deploy an RA on each branch office.
B. Use Delta CRLs at the branches.

C. Configure clients to use OCSP.

D. Send the new CRLs by using GPO.

Answer: C

Explanation:
Reference: https://www.sciencedirect.com/topics/computer-science/revoke-certificate

NEW QUESTION 7
A threat hunting team receives a report about possible APT activity in the network. Which of the following threat management frameworks should the team
implement?

A. NIST SP 800-53

B. MITRE ATT&CK

C. The Cyber Kill Chain

D. The Diamond Model of Intrusion Analysis

Answer: A

Explanation:
Reference: https://nvipubs.nist.gov/nistpubs/legacy/sp/nistspecialpublication800-30r1.pdf

NEW QUESTION 8

A high-severity vulnerability was found on a web application and introduced to the enterprise. The vulnerability could allow an unauthorized user to utilize an open-
source library to view privileged user information. The enterprise is unwilling to accept the risk, but the developers cannot fix the issue right away. Which of the
following should be implemented to reduce the risk to an acceptable level until the issue can be fixed?

A. Scan the code with a static code analyzer, change privileged user passwords, and provide security training.

B. Change privileged usernames, review the OS logs, and deploy hardware tokens.

C. Implement MFA, review the application logs, and deploy a WAF.

D. Deploy a VPN, configure an official open-source library repository, and perform a full application review for vulnerabilities.

Answer: D

Explanation:
Reference: https://www.microfocus.com/en-us/what-is/sast

NEW QUESTION 9

A security engineer estimates the company’s popular web application experiences 100 attempted breaches per day. In the past four years, the company’s data
has been breached two times.

Which of the following should the engineer report as the ARO for successful breaches?

A. 0.5
B.8
C.50

D. 36,500

Answer: A

Explanation:
Reference: https://blog.netwrix.com/2020/07/24/annual-loss-expectancy-and-quantitative-risk-analysis/
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NEW QUESTION 10

An organization recently started processing, transmitting, and storing its customers’ credit card information. Within a week of doing so, the organization suffered a
massive breach that resulted in the exposure of the customers’ information.

Which of the following provides the BEST guidance for protecting such information while it is at rest and in transit?

A. NIST

B. GDPR
C. PCIDSS
D. ISO

Answer: C

Explanation:
Reference: https://en.wikipedia.org/wiki/Payment_Card_Industry _Data_Security_Standard

NEW QUESTION 10

During a system penetration test, a security engineer successfully gained access to a shell on a Linux host as a standard user and wants to elevate the privilege
levels.

Which of the following is a valid Linux post-exploitation method to use to accomplish this goal?

A. Spawn a shell using sudo and an escape string such as sudo vim -c ‘Ish’.
B. Perform ASIC password cracking on the host.

C. Read the /etc/passwd file to extract the usernames.

D. Initiate unquoted service path exploits.

E. Use the UNION operator to extract the database schema.

Answer: C

Explanation:
Reference: https://docs.rapid7.com/insightvm/elevating-permissions/

NEW QUESTION 13

A shipping company that is trying to eliminate entire classes of threats is developing an SELinux policy to ensure its custom Android devices are used exclusively
for package tracking.

After compiling and implementing the policy, in which of the following modes must the company ensure the devices are configured to run?

A. Protecting
B. Permissive
C. Enforcing

D. Mandatory

Answer: B

Explanation:
Reference: https://source.android.com/security/selinux/customize

NEW QUESTION 17

An organization is implementing a new identity and access management architecture with the following objectives: Supporting MFA against on-premises
infrastructure

Improving the user experience by integrating with SaaS applications

Applying risk-based policies based on location Performing just-in-time provisioning Which of the following authentication protocols should the organization
implement to support these requirements?

A. Kerberos and TACACS
B. SAML and RADIUS

C. OAuth and OpenID

D. OTP and 802.1X

Answer: A

Explanation:
Reference: https://docs.microsoft.com/en-us/azure/active-directory/manage-apps/migrate-application-authentication-toazure-active-directory
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NEW QUESTION 22

An e-commerce company is running a web server on premises, and the resource utilization is usually less than 30%. During the last two holiday seasons, the
server experienced performance issues because of too many connections, and several customers were not able to finalize purchase orders. The company is
looking to change the server configuration to avoid this kind of performance issue.

Which of the following is the MOST cost-effective solution?

A. Move the server to a cloud provider.

B. Change the operating system.

C. Buy a new server and create an active-active cluster.
D. Upgrade the server with a new one.

Answer: A

NEW QUESTION 25

A security engineer needs to implement a solution to increase the security posture of user endpoints by providing more visibility and control over local administrator
accounts. The endpoint security team is overwhelmed with alerts and wants a solution that has minimal operational burdens. Additionally, the solution must
maintain a positive user experience after implementation.

Which of the following is the BEST solution to meet these objectives?

A. Implement Privileged Access Management (PAM), keep users in the local administrators group, and enable local administrator account monitoring.
B. Implement PAM, remove users from the local administrators group, and prompt users for explicit approval when elevated privileges are required.
C. Implement EDR, remove users from the local administrators group, and enable privilege escalation monitoring.

D. Implement EDR, keep users in the local administrators group, and enable user behavior analytics.

Answer: A

Explanation:
Reference: https://www.cyberark.com/what-is/privileged-access-management/

NEW QUESTION 30

A company is moving most of its customer-facing production systems to the cloud-facing production systems to the cloud.

laaS is the service model being used. The Chief Executive Officer is concerned about the type of encryption available and requires the solution must have the
highest level of security.

Which of the following encryption methods should the cloud security engineer select during the implementation phase?

A. Instance-based

B. Storage-based

C. Proxy-based

D. Array controller-based

Answer: A

NEW QUESTION 31

A technician is reviewing the logs and notices a large number of files were transferred to remote sites over the course of three months. This activity then stopped.
The files were transferred via TLSprotected HTTP sessions from systems that do not send traffic to those sites.

The technician will define this threat as:

A. a decrypting RSA using obsolete and weakened encryption attack.
B. a zero-day attack.

C. an advanced persistent threat.

D. an on-path attack.

Answer: A

Explanation:
Reference: https://www.internetsociety.org/deploy360/tis/basics/

NEW QUESTION 35
A security analyst notices a number of SIEM events that show the following activity:

Which of the following response actions should the analyst take FIRST?

A. Disable powershell.exe on all Microsoft Windows endpoints.
B. Restart Microsoft Windows Defender.

C. Configure the forward proxy to block 40.90.23.154.

D. Disable local administrator privileges on the endpoints.

Answer: A

NEW QUESTION 37

A vulnerability analyst identified a zero-day vulnerability in a company’s internally developed software. Since the current vulnerability management system does
not have any checks for this vulnerability, an engineer has been asked to create one.

Which of the following would be BEST suited to meet these requirements?

A. ARF

B. ISACs
C. Node.js
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D. OVAL

Answer: D

NEW QUESTION 39
Which of the following terms refers to the delivery of encryption keys to a CASB or a third-party entity?

A. Key sharing

B. Key distribution
C. Key recovery
D. Key escrow

Answer: B

Explanation:
Reference: https://www.open.edu/openlearn/ocw/mod/oucontent/view.php?id=483228ion=1.3

NEW QUESTION 44
A company is implementing SSL inspection. During the next six months, multiple web applications that will be separated out with subdomains will be deployed.
Which of the following will allow the inspection of the data without multiple certificate deployments?

A. Include all available cipher suites.
B. Create a wildcard certificate.

C. Use a third-party CA.

D. Implement certificate pinning.

Answer: D

NEW QUESTION 47

A developer is creating a new mobile application for a company. The application uses REST API and TLS 1.2 to communicate securely with the external back- end
server. Due to this configuration, the company is concerned about HTTPS interception attacks.

Which of the following would be the BEST solution against this type of attack?

A. Cookies

B. Wildcard certificates
C. HSTS

D. Certificate pinning

Answer: C

Explanation:
Reference: https://cloud.google.com/security/encryption-in-transit

NEW QUESTION 50

A company hired a third party to develop software as part of its strategy to be quicker to market. The company’s policy outlines the following requirements: The
credentials used to publish production software to the container registry should be stored in a secure location.

Access should be restricted to the pipeline service account, without the ability for the third-party developer to read the credentials directly. Which of the following
would be the BEST recommendation for storing and monitoring access to these shared credentials?

A. TPM

B. Local secure password file
C. MFA

D. Key vault

Answer: A

Explanation:
Reference: https://docs.microsoft.com/en-us/windows/security/information-protection/tpm/tpm-fundamentals

NEW QUESTION 51

A company is migrating from company-owned phones to a BYOD strategy for mobile devices. The pilot program will start with the executive management team
and be rolled out to the rest of the staff in phases. The company’s Chief Financial Officer loses a phone multiple times a year.

Which of the following will MOST likely secure the data on the lost device?

A. Require a VPN to be active to access company data.
B. Set up different profiles based on the person’s risk.
C. Remotely wipe the device.

D. Require MFA to access company applications.

Answer: D
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NEW QUESTION 56
A Chief Information Officer is considering migrating all company data to the cloud to save money on expensive SAN storage. Which of the following is a security
concern that will MOST likely need to be addressed during migration?

A. Latency

B. Data exposure
C. Data loss

D. Data dispersion

Answer: A

NEW QUESTION 59
A developer wants to maintain integrity to each module of a program and ensure the code cannot be altered by malicious users. Which of the following would be
BEST for the developer to perform? (Choose two.)

A. Utilize code signing by a trusted third party.
B. Implement certificate-based authentication.
C. Verify MD5 hashes.

D. Compress the program with a password.
E. Encrypt with 3DES.

F. Make the DACL read-only.

Answer: AB

NEW QUESTION 60
A security analyst discovered that the company’s WAF was not properly configured. The main web server was breached, and the following payload was found in
one of the malicious requests:

Which of the following would BEST mitigate this vulnerability?

A. CAPTCHA

B. Input validation

C. Data encoding

D. Network intrusion prevention

Answer: B

Explanation:
Reference: https://hdivsecurity.com/owasp-xml-external-entities-xxe

NEW QUESTION 64
A security analyst is reviewing the following output:

Which of the following would BEST mitigate this type of attack?
A. Installing a network firewall

B. Placing a WAF inline

C. Implementing an IDS

D. Deploying a honeypot

Answer: A

NEW QUESTION 67

Which of the following is the MOST important security objective when applying cryptography to control messages that tell an ICS how much electrical power to
output?
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A. Importing the availability of messages

B. Ensuring non-repudiation of messages

C. Enforcing protocol conformance for messages
D. Assuring the integrity of messages

Answer: D

NEW QUESTION 70

While investigating a security event, an analyst finds evidence that a user opened an email attachment from an unknown source. Shortly after the user opened the
attachment, a group of servers experienced a large amount of network and resource activity. Upon investigating the servers, the analyst discovers the servers
were encrypted by ransomware that is demanding payment within 48 hours or all data will be destroyed. The company has no response plans for ransomware.
Which of the following is the NEXT step the analyst should take after reporting the incident to the management team?

A. Pay the ransom within 48 hours.

B. Isolate the servers to prevent the spread.

C. Notify law enforcement.

D. Request that the affected servers be restored immediately.

Answer: C

NEW QUESTION 72

A satellite communications ISP frequently experiences outages and degraded modes of operation over one of its legacy satellite links due to the use of deprecated
hardware and software. Three days per week, on average, a contracted company must follow a checklist of 16 different high-latency commands that must be run in
serial to restore nominal performance. The ISP wants this process to be automated.

Which of the following techniques would be BEST suited for this requirement?

A. Deploy SOAR utilities and runbooks.

B. Replace the associated hardware.

C. Provide the contractors with direct access to satellite telemetry data.
D. Reduce link latency on the affected ground and satellite segments.

Answer: A

NEW QUESTION 73

A company plans to build an entirely remote workforce that utilizes a cloud-based infrastructure. The Chief Information Security Officer asks the security engineer
to design connectivity to meet the following requirements:

Only users with corporate-owned devices can directly access servers hosted by the cloud provider. The company can control what SaaS applications each
individual user can access. User browser activity can be monitored.

Which of the following solutions would BEST meet these requirements?

A. |IAM gateway, MDM, and reverse proxy
B. VPN, CASB, and secure web gateway
C. SSL tunnel, DLP, and host-based firewall
D. API gateway, UEM, and forward proxy

Answer: B

NEW QUESTION 74

An organization recently experienced a ransomware attack. The security team leader is concerned about the attack reoccurring. However, no further security
measures have been implemented.

Which of the following processes can be used to identify potential prevention recommendations?

A. Detection
B. Remediation
C. Preparation
D. Recovery

Answer: A

NEW QUESTION 75

A company created an external application for its customers. A security researcher now reports that the application has a serious LDAP injection vulnerability that
could be leveraged to bypass authentication and authorization.

Which of the following actions would BEST resolve the issue? (Choose two.)

A. Conduct input sanitization.
B. Deploy a SIEM.

C. Use containers.

D. Patch the OS

E. Deploy a WAF.

F. Deploy a reverse proxy

G. Deploy an IDS.

Answer: BD

NEW QUESTION 76
DRAG DROP
An organization is planning for disaster recovery and continuity of operations. INSTRUCTIONS
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Review the following scenarios and instructions. Match each relevant finding to the affected host.

After associating scenario 3 with the appropriate host(s), click the host to select the appropriate corrective action for that finding. Each finding may be used more
than once.

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button. Select and Place:

Answer: A

NEW QUESTION 78
A business stores personal client data of individuals residing in the EU in order to process requests for mortgage loan approvals. Which of the following does the
business’s IT manager need to consider?

A. The availability of personal data

B. The right to personal data erasure
C. The company’s annual revenue

D. The language of the web application

Answer: B

Explanation:
Reference: https://gdpr.eu/right-to-beforgotten/#:~:text=Als0%20known%20as%20the%20right,to%20delete%20their%20personal%20data.&text=The%20General
%20Data%20Protection%20Regulation,collected%2C%20processed%2C%20and%20erased

NEW QUESTION 82

An organization wants to perform a scan of all its systems against best practice security configurations.

Which of the following SCAP standards, when combined, will enable the organization to view each of the configuration checks in a machine-readable checklist
format for fill automation? (Choose two.)

A. ARF

B. XCCDF
C.CPE

D. CVE

E. CVSS
F. OVAL

Answer: BF
Explanation:

Reference: https://www.govinfo.gov/content/pkg/GOVPUB-C13-9ecd8eae582935c¢93d7f410e955dabb6/pdf/GOVPUB-
C13-9ecd8eae582935c93d7f410e955dabb6.pdf (p.12)
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NEW QUESTION 85

A security engineer needs to recommend a solution that will meet the following requirements: Identify sensitive data in the provider’'s network

Maintain compliance with company and regulatory guidelines

Detect and respond to insider threats, privileged user threats, and compromised accounts Enforce datacentric security, such as encryption, tokenization, and
access control Which of the following solutions should the security engineer recommend to address these requirements?

A. WAF
B. CASB
C. SWG
D. DLP

Answer: A

NEW QUESTION 90

A company that all mobile devices be encrypted, commensurate with the full disk encryption scheme of
assets, such as workstation, servers, and laptops.

Which of the following will MOST likely be a limiting factor when selecting mobile device managers for the
company?

A. Increased network latency

B. Unavailable of key escrow

C. Inability to selected AES-256 encryption

D. Removal of user authentication requirements

Answer: A

NEW QUESTION 93

The Chief information Officer (CIO) wants to establish a non-banding agreement with a third party that outlines the objectives of the mutual arrangement dealing
with data transfers between both organizations before establishing a format partnership .

Which of the follow would MOST likely be used?

A. MOU
B. OLA
C. NDA
D. SLA

Answer: A

NEW QUESTION 95
A developer implement the following code snippet.

Which of the following vulnerabilities does the code snippet resolve?

A. SQL inject

B. Buffer overflow

C. Missing session limit
D. Information leakage

Answer: D

NEW QUESTION 99

Ann, a CIRT member, is conducting incident response activities on a network that consists of several hundred virtual servers and thousands of endpoints and
users. The network generates more than 10,000 log messages per second. The enterprise belong to a large, web-based cryptocurrency startup, Ann has distilled
the relevant information into an easily digestible report for executive management. However, she still needs to collect evidence of the intrusion that caused the
incident .

Which of the following should Ann use to gather the required information?

A. Traffic interceptor log analysis

B. Log reduction and visualization tools
C. Proof of work analysis

D. Ledger analysis software

Answer: B

NEW QUESTION 101

A small company needs to reduce its operating costs. vendors have proposed solutions, which all focus on management of the company’s website and services.
The Chief information Security Officer (CISO) insist all available resources in the proposal must be dedicated, but managing a private cloud is not an option .
Which of the following is the BEST solution for this company?

A. Community cloud service model

B. Multinency SaaS

C. Single-tenancy SaaS

D. On-premises cloud service model

Answer: A

NEW QUESTION 103
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A company’s claims processed department has a mobile workforce that receives a large number of email submissions from personal email addresses. An
employees recently received an email that approved to be claim form, but it installed malicious software on the employee’s laptop when was opened.

A. Impalement application whitelisting and add only the email client to the whitelist for laptop in the claims processing department.
B. Required all laptops to connect to the VPN before accessing email.

C. Implement cloud-based content filtering with sandboxing capabilities.

D. Install a mail gateway to scan incoming messages and strip attachments before they reach the mailbox.

Answer: C

NEW QUESTION 106

A company is repeatedly being breached by hackers who valid credentials. The company’s Chief information Security Officer (CISO) has installed multiple
controls for authenticating users, including biometric and token-based factors. Each successive control has increased overhead and complexity but has failed to
stop further breaches. An external consultant is evaluating the process currently in place to support the authentication controls .

Which of the following recommendation would MOST likely reduce the risk of unauthorized access?

A. Implement strict three-factor authentication.
B. Implement least privilege policies

C. Switch to one-time or all user authorizations.
D. Strengthen identify-proofing procedures

Answer: A

NEW QUESTION 108
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